e

11TATEFER

FE A ST AR ch o
B |m® FRATE e | sy BIMTE - MRS =2 TH NZR
d 16:04(J\H)
1/1| & [REEXEE (3—4) 50| & # 16:55 }sggg)
1172 | £ [AFAHAKRE (Hvh—  \L— N\RY  FEKF. T=RF)
11/3 OfFARE (T=RF . N\L—F . "R T $vh—F)
11/4
= E) 2 = 13:55 112259(/\53)
11/5 SFEA=HEBHKD 50 = x= 16:55 1728 ([E
I eEE=EEED ol & | ovz 1380 | issodmm)
H$HHEBED b - : 1SQ4UNED
EE=ZBE0 o " 13555 16:59 (/\H)
WA k0 REXEEELHKERES 16:55 | 17.08(mgE)
. 14:59 (J\H)
SEE=HBHG bE pi:| 13:55 16:59 (J\H)
178 & | gy 3etk883) %0 16:55 | 17.28(m%)
11/9
11/10| B |FBRIEAE HEEBEREZ-R
. 13:55 112259(/\53)
11| B [3EEZEBHO 50 E |O 16:55 | 17.28(EE
16:04(/\H
11/12 50| # % |O 16:55 izégg(/\m)
11/13 —XEMH 50 # [Zv&|O 15:30 }gggﬁ}@ﬁ;
i 14:59 (J\H)
11/14] & ‘5‘3 #L | O 14:45 15:50 (B#E)
T6:04(/\E)
11/15| & |FOEAIRES 45| & # |0 16:55 | 16:59(/\M)
- = 17:28 (EIEE)
11/16
11/17 #
fﬁ T6:04(/\H)
11/18 45 ® O 16:55 iz;gg%/\a&)
i ;
11/19 Ml 45| % % |0 16:55 }gggggl\ﬂi)
14:59 (J\E)
11/20 45| # | TvER|O 15:05 15:59 (B
T6:04(/\H)
11/21 K 45 % |0 16:55 }35225/\5)
T6:04(
BmB=ED i 16:55 16:59(J\M)
1/22| & |z mEsenzae 50| & B |O 17:28 (B )
11/23| £
=1
11/24 e
B T6:04(/\H)
11/25| B |BEHEQ = | 50 £ 16:55 }g;ggﬁ/\ﬂn
1k T6:04(
11/26 BERHEQ ?;g 50 # ® 16:95 }ggggli ))
i 11:59 (J\H)
11/27) K | IR T AD gg L 1155 | {yoa@iE)
] 11:59 (J\H)
11/28) K [HIKRT R i L 11:30 | {y0s@E)
— 14:05 14:59 (J\H)
wa| & [BEIEHO 20 BL 1505 | 1s59(Ei®)
11/30| £
12/1 12/8) B 1215 H 12/22
12/2 EWELAMLEEE1FE3h 1279 B 12/16) § 12/23
12/3 EMEL RS LEHE243h 2ol (RS BREE 21l K 12/24
12/4 %g%gg;aﬁiﬁ;igg wn| K |[IEREEL 12718 7K 12/25
12/5 §?Ef§1§ém 12712 R 12719 R 12/26
fg =1
12/6 1213 £ 12720 4 = 12/27
12/7 OF&{LEES 1214 £ Il)x;‘)‘}?(’;‘l—hﬁ'lﬁ]%ﬂﬂﬂ%(ﬁlx 221 £ 12/28




